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  Candidates are required to give their answers in their own words 
as far as practicable. 

˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ ²ÌöìÙÀîû þ›)”Åôyöìlîû !löì˜Å¢†þÐ 

þ›î û#ÇþyíÅ#öì˜îû ëíy¤½þî !löì?îû èþy£ìyëû ’þz_îû !˜öì•þ ¥öìîÐ 

 1. Answer any five of the following: 1×5=5 

  öë ö†þyöìly þ›„y‹þ!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a) Name two economic importance of Bacteria. 

    îÄy†þöìØþ!îûëûyîû ˜%!Øþ xíÅ÷ìl!•þ†þ =îû&c ö¡öì‡yÐ 

   (b) What is heterocyst? Where is it found? 

    ö¥Øþyöìîûy!¤ÞØþþ †þ#Ú ~!Øþ ö†þyíyëû ö˜‡y ëyëûÚ 

   (c) Name a basidiomycetes fungi causing plant disease. 

    îÄ!¤!’þGôy¥zöì¤!Øþ¤éŸ~éîû xhsèÅ%þ_« ’þz!qöì˜îû öîûyˆ ¤,!ÜT†þyîû# ~†þ!Øþ Séeyöì†þîû lyô ö¡öì‡yÐ 

   (d) What is gemma cup? Where is it found? 

    òöˆôy †þyþ›ó †þ#Ú ~!Øþ ö†þyíyëû ö˜‡öì•þ þ›yGëûy ëyëûÚ 

   (e) What is VAM? 

    VAM †þ#Ú 

   (f) Name one homosporous and a heterosporous pteridophyte? 

    ~†þ!Øþ ¤ôöìîû”%²Ì¤) G ~†þ!Øþ x¤ôöìîû”%²Ì¤) öØþ!îûöì’þyæþy¥zØþyîû lyô ö¡öì‡yÐ 

   (g) What is sulphur shower? 

    ¤y¡æþyîû î,!ÜT †þ#Ú 

   (h) What is gemma cup? 

    öˆôy †þyþ› †þyöì†þ îöì¡Ú 

 2. Answer any two questions from the following: 5×2=10 

  öë ö†þyöìly ˜%!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a) What is Zygospore? How zygospore is formed in Rhizopus sp.? 2+3=5 

    ?y¥zöìˆyöìß›yîû †þ#Ú îûy¥zöì?yþ›yöì¤îû †þ#èþyöìî ?y¥zöìˆyöìß›yîû ÷•þ!îû ¥ëûÚ 
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   (b) Describe the morphological and anatomical features of Marchantia gametophyte. 2+3=5 

    MarchantiaéŸéîû !¡D™îû ’þz!qöì̃ îû îy!¥Ä†þ G xèþÄhsýîû#” xD¤‚ßiyl î”Åly †þöìîûyÐ 

   (c) With suitable labelled diagram describe the structure of TMV. 2+3=5 

    !‹þ!¥«•þ !‹þe¤¥öìëyöìˆ é TMVŸé~îû ˆ‘þl î”Åly †þöìîûyÐ 

   (d) Briefly describe the internal structure of Pinus needle. 5 

    PinuséŸé~îû ¤)‹þÄy†þyîû þ›öìeîû xhsˆÅ‘þöìlîû ¤‚!Çþ® î”Åly ˜yGÐ 

 3. Answer any one question from the following: 10×1=10 

  öë ö†þyöìly ~†þ!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a) Draw and describe the sexual reproduction of macrandrous type Oedogonium. What do you 
mean by nannandrous type of Oedogonium? 8+2=10 

    !‹þe¤¥ OedogoniuméŸé~îû ôÄy†þîûyl’Èþy¤ ²Ì†,þ!•þîû öëïl ?löìlîû î”Åly ˜yGÐ lÄylyl’Èþy¤ ²Ì†,þ!•þîû Oedogonium 
î¡öì•þ †þ# öîyöìVþyÚ 

   (b) Draw and describe the internal structure of Selaginella stem. Comment on seed habit of 
Selaginella. 3+3+4=10 

    SelaginellaéŸéîû †þyöìuþîû xhsý Å̂‘þöìlîû ¤!‹þe î”Åly ˜yGÐ SelaginellaéŸéîû î#? ÷î!¢ÜTÄ ¤Á›öì†Åþ ö•þyôyîû ô•þyô•þ 
˜yGÐ 

_________ 


